FER S 04125048

RUR)—hvyT AUSR

=" 2 29VAMI WIH37° 5 FU0 3-R

g5z K % ouT IN GR HDCP NET =

B @I &N 39 4 80 10.0 70.0

#E F) K@ 35 38 13 2.0 71.0
3 |FHET B 35 43 18 5.0 73.0
4 |RE EE 39 37 16 1.0 75.0
5 |FKX = 37 40 11 2.0 75.0
6 P M= 38 43 81 6.0 75.0
7 R # 4 45 86 10.0 76.0
8 |H EB— 39 42 81 4.0 71.0
9 |fER FME 46 4 87 10.0 77.0
10 /MH =E 48 39 87 10.0 77.0
" iR #Flz 37 41 18 0.0 18.0
12 # &= 43 41 84 6.0 78.0
13 |BE fEx 45 43 88 10.0 78.0
14 |EH FA& 46 43 89 11.0 78.0
15 |3kRE It 40 41 81 1.0 80.0
16 | KE =B 41 44 85 5.0 80.0
17 | KB AR 41 48 89 9.0 80.0
18 |WiE RIE 45 45 90 10.0 80.0
19 | T#H 3 43 43 86 5.0 81.0
20 | KHE #Bt 44 45 89 8.0 81.0
21 | EX st 45 42 87 5.0 82.0
22 R ER 47 46 93 11.0 82.0
23 [R5 BE 48 44 92 9.0 83.0
24 HB¥ 1F7E 46 48 94 11.0 83.0
25 |AE —F 43 47 90 6.0 84.0
26 B EA 47 48 95 11.0 84.0
271 |Bh FH 48 42 90 5.0 85.0
28 |AH —8B 45 46 91 5.0 86.0
29 |EiE & 46 46 92 6.0 86.0
30 |ME Wi 45 51 96 10.0 86.0
31 HR F= 50 47 97 11.0 86.0
32 |HTH X% 47 45 92 5.0 87.0
33 |HHE I 48 48 96 8.0 88.0
M |F EE 47 52 99 11.0 88.0
35 |l EA 48 53 101 11.0 90.0
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B2 R A 45 37 82 15.0 67.0
#fE LA ERE 45 45 90 19.0 71.0
3 | TFH &I 46 53 99 27.0 72.0
4 |BX ME 43 43 86 12.0 74.0
5 |[EAK FEH 49 47 96 21.0 75.0
6 |mF BT 48 43 91 13.0 78.0
1T |B®R M= 49 44 93 13.0 80.0
8 |FH R¥F 47 49 96 14.0 82.0
9 WT x— 48 50 98 16.0 82.0
10 | KF A 47 49 96 12.0 84.0
1| K+ = 45 54 99 14.0 85.0
OPEN |18 =EE 37 38 75

[BHAZEIHDCP [BEIEMIHDCPEELE -V /Ay Y (1IN)




